College Algebra — Joysheet 3 Name: Sa‘i OG:(:,M
MAT 140, Fall 2017 — D. Ivansic Covers: 1.5, 1.6 Show all your work!

Solve the inequalities. Write your solution in interval notation.
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4. (14pts) Two computer-maintenance freelancers charge for their services in this way:
George charges $150 for the first three hours and then $40 per hour for hours after the first
three; Yuri charges $200 for the first five hours and then $45 per hour for hours after the
first five. Assuming at least five hours of work are needed, for which number of hours is it
preferable to hire George? Solve as an inequality.
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5. (14pts) A 183-mile-long road joins cities Charlestown and Crown City. At the same time,
one tractor leaves Charlestown and drives toward Crown City, and another tractor, driving

3mph faster than the first tractor, leaves Crown City and drives toward Charlestown. After
2 hours they meet on the road.

a) What are the speeds of the tractors?
b) How far from Charlestown did they meet?
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6. (14pts) How many liters of a 7% solution of sulphuric acid must be mixed with 3 liters
of an 12% solution of sulphuric acid in order to get a 9% soluti-.}n of sulphuric acid?
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